FgArea: [ E1']
NC11 P6
2025-06-12 (Day 68)




||0
> >
_
o o o o o
o o o o o
T § B 8 &
o~
2 adil o _ |
—2 _
_o—
-0
=
M.o
—
—
$
||0
> >
_ _
o o o o o
o o o o o
T § = &8 =

70

60

50

40

30

20

10

70

60

50

40

30

20

10

S

—
———e |
~—
-y
"
=
- >
o o o o o
o o o o
o T9) o Lo
N - —
-~ " - S R I E N —
.|\.
,J..
I.’ '.
L\
[ ®
——0
—=0
=
~—
—Q
< _
: £
- >
¢ ~—,
1
o o o o o o o o o
o o o Lo o o o Lo
R_ ~q9NE= 22 = oo

70

60

50

40

30

20

10

70

60

50

40

30

20

10

——

Lo < ™ N — o
o o o o o =)
o e e LIIlIIlIIIIILﬂIuIII
—e—o
—
® ]
o= — o
#n|
[a 4
- o -
—
—0
+ ®
_
o T o 'e} o fe} o 0 o
< ™ ™ N N — — o o
o =) o o =) o =) o o

50

40

30

20

10

70

60

50

40

30

20

10



5000 6000

4000

DU

-&— 2 FR
1‘W&[]r.
T T T T T T T
0 10 20 30 40 50 60
d
—@— 2 setVI

3000

2000

o 2 VI vs Du
o o
1000

0

2500
2000
1500 ~
1000 ~

500 -

4000 5000

3000
DU

1 FR
T T T
10 20 30
1 setVI

1000 2000

1 VI vs Du

[
0

70

T T T T T T T T T
~ © Lo < (32} N — o Lo o Lo o
o o o o o o o N — — — —

70

?/
v

2500
2000
1500 ~
1000 ~

500 -

50 A
0 -

T T T T T T T T
© Lo < ™ N — o o o o o
o o o o o o o N N — —

70

60

50

40

30

20

10

70

60

50

40

30

20

10




1 (fgArea = NA)

4 1

5000 1" o EcIx10% :

—o— ECO ‘ I

1

4000 :

1

1

1

3000 b A b

1

1

1

2000 L

1

1

1

1

1000 - |

1

1

1

0 T T I
0 10 20 30 40 50 60 70

7.75 ' T

—@—  PHI*10% :

750 | —®— PHO 1

) 1

1

1

7.25 o

1

1

7.00 T] i

1

1

1

6.75 |

1

10

20

30

40

50

60

70

2 (fgArea = NA)

5000

| |
—@— ECI*10%
| —®— ECO

4000

3000

2000

1000

T T
—@— PHI*10%

| —®— PHO

20

30

40

50

60

70



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

T
—o— dFVI !
0.04 4 —@— dFVO 1
1
1
1
0.02 - i
1
1
1
o.oo—------—-—-—----—-—-—-—-—————-—-—-:
1
1
-0. 02 1 :
1
1
—-0. 04 ~ :
1
T T T T T T T T T I
47.5 50.0 52.5 55.0 57.5 60. 0 62.5 65.0 67.5
day
3250 - :
1
3000 - m\ :
\
1
9750 ‘n—--m--‘---q\ !
1
2500 - :
1
2250 - :
p 2 N I—— !
2000 - ]
-¥%=- fz_stock_ec :
1750 1" 5~ EcB*10% ]
1
1500 4 —®— ECC :
47.5 50.0 52.5 55.0 57.5 60. 0 62.5 65. 0 67.5
day
T
7.0 - —>—  PHB*10% :
—e— PHC I
1
1
1
6.5 !
1
1
1
] 1
6.0 O |
1
1
1
5.5 R I :
1
1
1
5.0 7 i
T T T T T T T T T I
47.5 50. 0 52.5 55.0 57.5 60. 0 62.5 65. 0 67.5
day
T
—e— DUC !
800 ]
1
1
1
600 i
1
1
1
400 :
CO——C !
1
200 :
1
1
1
0 - T T T T T T T T T I
47.5 50. 0 52.5 55.0 57.5 60. 0 62.5 65. 0 67.5
day
T
—e— FRV !
500 i
1
1
400 :
1
1
300 - !
1
1
200 - :
1
1
] 1
100 ]
1
1
0 T T T T T T T T T I
47.5 50.0 52.5 55.0 57.5 60. 0 62.5 65. 0 67.5
day
T
104 —@— FRC ® !
1
1
1
0.9 !
1
1
] 1
0.8 |
1
1
] 1
0.7 ¢ |
1
1
0.6 |
1
1
1
0.5 I
T T T T T T T T T I
47.5 50.0 52.5 55.0 57.5 60. 0 62.5 65.0 67.5
day
6. 75 - 7
|
6.50 - O/M :
1
6. 25 - |
|
6. 00 - :
|
5. 75 - i
1
5. 50 - :
|
i |
5. 25 |
|
5. 00 - :
+ 'FW |
4. 75 L T T T T T T T T !
52 54 56 58 60 62 64 66 68




Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E1
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P6AE_E1, Day=67 (2025-06-11)
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P6AE

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

08:25 319 160. 0 0.314 E  BRi&e08:25 BE1 (RAERRE)
09:10 319 160.0 0.314 F[ BRi%e09:10 Bz (GRAERSE)
10:00 319 160.0 0.314 =l {Ri%@10:00 B3 (RAERSE)
10:55 319 160. 0 0.314 E BRi%e10:55 Bzl (GRAERERE)
11:40 319 160. 0 0.314 = Rig011:40 Bah (RAEESE)
12:25 319 160.0 0.314 = {Rige12:25 B3 (REAERSE)
13:10 319 160.0 0.314 E BRige13:10 Bz (GRAERESE)
13:50 319 160.0 0.314 5| {Ri%e13:50 B3 (RAERSE)
14:35 319 160.0 0.314 = RRiB014:35 B (RFAEESE)
15:25 319 160. 0 0.314 E BRige15:25 Bz (GRAERESE)
16:25 319 160.0 0.314 El BRi&e16:25 Bz CGRAERESE)
21t 3509.0 (11)%) 1760.0 3EWHKEC: 2080.0, PH: 5.5

KRR (0.9) , FRE

MEREHERE STHAEARS (296.0 : 153.0), AIREKREERE
BRIASERRIERE153. 0 ml.

RE X # Bl RECEIE Hh k.

# [EHECE (2098. 0 vs 3860.0) IS
REXREB I HEREC/PHER K, AIREZINIEAER K

LOREBIPH (6.5) 5i&EE (5.5 RERK, BT,
LRGERIPH (6.5) SHEEVEY (5.5) REKK, BRE.



P6AE_E1, Day=66 (2025-06-10)
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P6AE

BYiE) | GEBIATK () | EHME (EH/H) | EBRERE (B/R) | XK R

08:35 255 160.0 0.314 |z =| 1Ri%e08:35 Bz (KREAZBE)
09:45 255 160. 0 0.314 |Z=&| 1BRi&e09:45 Bzl (RAERERE)
11:05 255 160.0 0.314 |Z=| 1Ri%e11:05 Bz (GREERSE)
12:15 255 160.0 0.314 |2 =| 1Ri%e12:15 Bz (GREZBE)
13:30 255 160.0 0.314 |/hfl| 1Ri%e@13:30 Bz (GGREEBE)
14:25 255 160.0 0.314 FA| {Ri&@14:25 Bz GGRAEEE)
15:20 255 160.0 0.314 |2 =| 1Ri%e15:20 B3 (REAZBE)
2it[1785.0 (70%) 1120.0 3EHKEC: 2080.0, PH: 5.5

WATEHRERRA (0.9) , HEE

ERGEBRIRE TR (0.62 vs 0.9), AR S MEENEBEESKERE
423.0), AIEEKREBERME

FERRHLER 2 STREAERTF (554.0 :
LRGEB R R IZFER 2 (900 vs 340.0))

BRI\ SLPRIERE423.0 ml.
FHERECE (2112.0 vs 4370.0) 35

ERGERPH (6.4) SRAEW (5.5 REEKX, HRE.




P6AE_E1, Day=65 (2025-06-09)

------------------------------------------------------------------------------------- - 6000
150 11, Ve?%Rv, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET
100 - 3549 | 4000 L
285 £
L >
50 11900 {1484 oy 2000 Z
I73 Warning: lcol [FVI',| "FVO’'] missing $ 0
04 - 60
( - 4
~ 600 FRV M_E
L Lman maxM A
S o~ ! - 45
— 400 - w
— =
E
~ 200 - L 40
A S e Tl e e e o S e s SET Ry
1.0
4
0.8 -
0.6 -
0.4
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2208
1 optEC0=2600. 0, setECB=2080.0 ——  ECBx10% f*
o ° ® ECC
2200 - % —N 5 ]
2000 -
1800 -
°
optPHO=6. 5, setPHB=5.5 ° —>—  PHB*10%
6.5 - ® PHC
: ° e ©® ©
6.0 - > —>—> X
T e et P -)(—)4 ------------------------------------------------
5.0
600 1 A
= Bylnit @D68 02:06: ET=1741 Fg=2240.0 Ro=719.0 3000 =
5 ! s
= e—o o =
i: - 2000 £
= L 1000 &
o 3
60 1 0 1 2 3 4 5 6 7 8 9 0] 11 1121314111617 81109271 2]2]23]°
> |BolB=|Zz| % | % | ® | m% | | m [ m | ™ | ® |6 |08 | B | ™ | ™| k|6 |6 |66 |[m]|6&][00,;
C | c
%400_ ByEt @D65 19:34: ET=1321 Fg=2285. 0 Ro=nan i e o © ) TZ
AN L 2000 2
£ E
= % iz
[ >
(NN [&]
60 10 1 2 3 4 5 6 7 8 9 10 111121814116 []17]18J]19]2T2]2]223]°
= 22222 W | W | W | B (2212222222220 B 2222222212222 & | B | 2000
C | c
% 400 4 ByWoFv @DGS 02:06: ET=1211 Fg=1120.0 Ro=180.0 | 9000 %
~ ~N
£ : E
E 200 - : —8—8 | 0
— 1 3
= | _ 5
10155 1 2 3 4 5 6 7 ) 9 [ 10| 11 12 13 ] 14] 15 ]16]17 ﬁ 20121221 23]°
0 3lBElBalBn| W | W | W | W (3232151501222 100| W |32|32152152152122122] % | @&
0.6 -
0.4
0.2 -
[
| _obs
PPFD_obs
e v P
1.5 ﬁ ‘
S &
05| ¥ :‘!“_?“‘.LM

o
N
=N
=2}




39.

39.

39.

39.

39.

39.

1.

0.8~

0.6

0.4+

0.2+

0.0

T T
800 1000

m=750,m FV0=0

T
600

46

44

42

40

38 A

—o—

M_E

750

765 7é0
m=955,n FV0=0

20 A

18

16

14

12

10 ~

—0—

M_E

955

956 967
m=985,n FV0=0

958

Warning: col ['M_E'] missing

0.0

0.2 0.4 0.6 0.8

m=490, FV0=0 m=545, FV0=0
—o— ME 6] —@— ME
44.5
44. 0 A
45
43.5 +
4_ -
3.0 0]
42.5 A
42.0 + 43
T T T T T T
490 495 500 545 550 555
m=810,m FV0=0 m=870,m FV0=0
471 —e— ME 4401 o wmE
46 43. 5 A
45 A 43. 0 A
44 - 42.5 1
431 42.0
T T T T T T
810 815 820 870 875 880
m=965,m FV0=0 m=970,m FV0=0
1.0 1.0
0.8 1 0. 8 A
0.6 - 0.6 -
0.4 - 0.4
0.2 A 0.2 -
Warning: col ["M_E’] missing Warning: col ['M_E'] missing
0.0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.
m=990, FV0=0 m=1000, FVO0=0
1.0
- ME
46. 25
0.8 1
46. 00 -
0.6 -
45. 75 A
0.4 -
45. 50 ~
0.2 A
Warning: col ['M_E’'] missing 45.25 1
0.0 T T T T T T T T T
0.0 0.2 0.4 0.6 0.8 1.0 1006 1008 1010 1012 1014

m

39.

39.

39.

39.

39.

46.

46.

46.

45.

45.

m=620, FV0=0

47 -

46 -

45 ~

44 -

43 A

—0—

M_E

620

655 650
m=950,n FV0=0

—0—

M_E

950

T T
954 956

m=980,m FV0=0

T
952

T
958

Warning: col ['M_E’] missing

0.2

0.4 0.6 0.8

m=1010, FV0=0

—_

—O—

M_E

1010

1015 1020




46. 4

46. 3

46. 2

46. 1 1

46. 0

45.9

m=1035, FV0=0

—o—

M_E

T
1035

T
1040

T
1045

m=1055, FV0=0
- ME

46. 6 -
46. 4 -
46. 2 -
46.0 -

T T T

1055 1060 1065

46.

46.

46.

46.

46.

46.

46.

m=1070, FV0=0

—0—

M_E

T
1075

T
1080

48.5 -

48.0 A

47.5 A

47.0 -

m=1110, FVO=0

—0—

M_E

T
1110

T
1115

T
1120




hour

:35
115
)
:35
110
:50
125
:05

:55

100

80

- 60

- 40

WA R WA
Fed a8 @& S
] VX X

'

§_

7
L
N
4
2

%

Ng
%

2

R
-



P6AE

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

07:40 600 160.0 0.314 = {RRiB007:40 Fzh (RFAEEE)
08:20 600 160. 0 0.314 E 1BRi&e08:20 Fzh (RAEREE)
09:15 600 160.0 0.314 5| {Ri%@09:15 F 3 (FRAMERSE)
09:55 600 160.0 0.314 = {Rig@09:55 F 3 (RAERSE)
10:35 600 160.0 0.314 = {RRiB@10:35 Fzh (RAKEE)
11:15 600 160.0 0.314 =l Rige11:15 Fzh (GREAEESE)
11:55 600 160.0 0.314 =l {Rige11:55 Fz1 (RAERSE)
12:35 600 160.0 0.314 S| {Rige12:35 Fz (KRAERSE)
13:10 600 160. 0 0.314 E| {Rig@13:10 Fzh (GREERSE)
13:50 600 160.0 0.314 F BRi%e13:50 Fz1 GRAERESE)
14:25 600 160.0 0.314 S| {Rige14:25 F3 (RAERSE)
15:05 600 160. 0 0.314 E BRi&e15:05 Fz1 (GREAERERE)
15:50 600 160.0 0.314 F[ BRi%e15:50 Fz1 CGRAERESE)
16:55 600 160.0 0.314 = {Rig@16:55 Fzh (REAERSE)
21t 8400.0 (14)%) 2240.0 3EHKEC: 2080.0, PH: 5.5

AREMRERA (0.91) , BFEE

FeREHLERE STHAEART (265.0 :
ORI R F AR B 3218 (300 vs 340.0))

BRIASERRGERE141. 0 ml.

FEERECE (2153. 0 vs 4420.0) i3

LRGERIEC (2511.0) S54RAVEY (2080.0) REK K, BHHRE.

141.0), FIRERREERE




P6AE_E1, Day=64 (2025-06-08)
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